- Vapour density and degree of dissoclation o = {”r‘?j%j
 Payload / lifting power [based on Buoyancy]
- Payload = wt of air displaced (M, 9) = wt. of balloon (m
V = Volume of balloon
4 = density of outside gas
d = density of gas in the balloon
M = Mass of balioon

{IV)  Typesof vessels
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(A) Open vessel (B) closed vessel
bubble type cylinder type (rigid)  piston type (non-rigid)
(a) Bursting of containers - two concepts used depending upon type of container
(i) Bubble type (very thin skin) cannot tolerate difference in pressure on the skin u\(
: outside pressure = inside pressure 9”0 : _

Any change in these cause change in volume & the contaig a\@a
() Cylinder type (thick skin) can withsta(rx%‘re erenc:

tiCyimit but cannot have w
- * Any change cﬁe\&lﬁi presstggh exceeds the limits the container burs
) powns o
&) :

o

fus cblgcxng containers havirlg gases

emoval of nozze! the gas from higher pressure will travel so as to
B “from idea of total moles & final temperature each parz

anges in Open vessel : Pressure of gas remains constant &
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